D x*-6x+9 @ 4x® +16x+ 16
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@x2+—x+— @ x? +2xy+y?
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D x*-6x+9=(x-3)?
@ 4x* +16x+ 16 = (2x + 4)?
@ x% 4 2xy + 1y% = (x + y)?

® 2+ 2 +i2—(x+1>2
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® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)
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@ ma+mb-m=m(a+b-1)
®—4a® + 9b*> = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)




2 -16x+[ PraRAFAel o [ ]9 ge?
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(x—8)% = x* - 16x + 64
ot [ |=64 olct
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x=3+2V2, y=3-2v2 4 o, x2 % o] g& 52

O 24 @ -24 ®0
@ —24+2 024«/'

B
x2—y2
= (x+y)(x-v)
=(3+2V2+3-2V2)(3+2V2-3+2V2)
=6x4V2 =242




5. (x+5)(x—6)+10 = AHEastH?

@ (x-2)(x+10) @ (x+2)(x-10)
@ (x+2)(x+ 10) @ (x-4)(x+5)
@) (x+1)(x-5)

(x+5)(x—6) +10 = x> —x—30 + 10
=x2-x-20

=(x+4)(x-5)




6. 8x?—10x+3 & I5Eal ofH?

@ (2¢+ 1)(4x + 3) @) (2x-1)(4x-3)
® (2x+1)(4x-3) @ (2x-1)(4x+3)

® (2x-3)(4x+1)

‘ 8x% —10x +3 = (2x - 1)(4x - 3)




© x?-5x-6=(x—2)(x-3)
@ 12x - 4x* = 4x(x - 3)
@) - 145+ 49 = (x -7

@ 3x2 +5x-2=(x-2)(3x+ 1)
@) 1a? - 90? = (2a- 3b)(2a + 3b)

@ (x-6)(x+1)
@ -4x(x - 3)
@ (x+2)(3x-1)




F oA 2 -5x+29 2 +x-6 9 T A5E?

@ -2 @ (x+3) ® (2x-1)
@ (x+3)(x-2) ® (2x-1)(x-2)

232 =b5x+2=(2x—1)(x—2)
¥ +x-6=(x+3)(x—-2)
webd T o] BE9l A4t (x-2) o]tk




3x% = 10x+m 9 T 157 3x -4 A of, Th2 T A=

D x-1 @x—2 @ 2x-1
@ 3x-2 ® 2x-3
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3x2—10x+m = (3x—4)(x + k)

= 322 + (3k — 4)x — 4k
3k—4=-10 A k= -2
—4k =mO| B2 m =238
3x2—10x +8 = (3x—4)(x—2)
whabA ThE Q= x - 2 o]t}
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@ 2x @ 2x+1 ® 2x+2

@ 2x+3 ®)2x+6

Holol &2 x2 +6x+5=(x+5)(x+1) o|BZ
Ho] dol7t 242t x + 5, x + 1 1 Az ot

whebA] Fhaet Al2o] e 2x + 6 o]tk




